Subject: Re: Program caused arithmetic error: Floating underflow
Posted by on Wed, 18 Jun 2014 16:05:26 GMT

View Forum Message <> Reply to Message

Den onsdagen den 18:e juni 2014 kl. 17:38:45 UTC+2 skrev g.na...@gmail.com:
> Why the last iteration will be divided by (170007283)"283? | thought that for each iteration the
value be divided by 17000.

The value from the first iteration will be divided by that number. The contribution from each
iteration will be divided by one factor 17000 less than the previous one. The value from the last
iteration will be divided by 17000 only.

Page 1 of 1 ---- Generated from conp. |l ang. i dl - pvwave archive


http://idlcoyote.com/comp.lang.idl-pvwave/index.php?t=usrinfo&id=7475
http://idlcoyote.com/comp.lang.idl-pvwave/index.php?t=rview&th=36461&goto=88781#msg_88781
http://idlcoyote.com/comp.lang.idl-pvwave/index.php?t=post&reply_to=88781
http://idlcoyote.com/comp.lang.idl-pvwave/index.php

